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1. (a) Bricfly explain the difference between Previoy,

year and Assessment year. | (5)

(b) Briefly explain the provisions of Residential Statug

of an individual. - ot ' (6)
 OR

(2) Income of previous year is taxable in the

immediately fdilowing'. assessment yéar. Are there

_any exceptions to '_this:‘fﬁle?" 0 (5)

(b). Mr. X (30 y‘ée'l‘rs)_iAs a:citi__zé'r;qi: :I'ndijé an'd_ ,emﬁloyed .
in-India with an inci_ian c,c‘)‘rp_pgny.-_‘He leaves India
for the first time on August 15, 2022 for a project
of his employer company and came back on 5%
April 2023, Find his residential status for the
assessment year 2022-23, giving reasons for your

~ answer, R A s Sl it -(6)
(&) fooear af sk S 9 & %‘ﬁaaﬁt ﬁmﬁwﬁ .
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2. Mr. Y.(36 years) is working with Z Ltd in Delhi. He
gets Rs. 66 bOO per month as basic salary. He géts a
fixed commlss1on of Rs: 18,000 and turnover based
commlssmn on 2% sales made by him Wthh were

~ Rs. _21,50,000 durmg the year 2022-23, He also- gets

P.T.O.
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house rent a]lowance of Rs. 18,000 per month, fent

-paid by him is Rs. 20,000 per month. Compaﬁy g
also prowded him an 1800 cc car for OffICIal and
private use, all expenses on running and maintenance

of the car are met by the company No logbook for
personal use is mamtamed From 1st November 2022,
a driver is also prov1ded to him, and company pays Rs
16, OOO per month to the drlver Company also
contr1butes 15% of basw salary towards recognlzed

' prov1dent.fund. Mr. Y also-contr1butes equal amount

towards his PrOV.'iAden_t\fund_-; G

Mr Y also gets 1nterest from sav1ngs bank account
 of Rs. 26,000 during the year 2022 123 Calculate ‘his
Net Income for the a,ssessment year 2023-24 assuming

he is folloWing old tax regime. £ (D)
OR

(a) Briefly ‘explain the provisions of taxability of
~Pension' under Income Tax Act 1961. (5)

w4
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(b) Briefly explain the provisions of calculating taxable

Gratuity under Income. Tax Act 1961. (6)
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3. (a) Enumerate with réfe'rencc to' section 10 of the
| Income Tax Act 1961, five incomes: which are

_t{otallyw,éxcmpt from ;3 A R R &)

', (b) Briefly explaln the prov191ons of computatlon of

Annual Value of House. Property .o (6)
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“OR

Mr. M (agcd 33 years) owns a residential house at
Delhi which is let out to M1 N at a monthly rent
of Rs_..45,00Q, .Mﬁun‘icipal value of the house is
Rs. 2,20,000 end'f_air rer_rt islyRs.’.“4,5'0,000. Standard
~ rentis Rs. 4 00 000 Muni"cip‘al tax'is Rs. 20"000 which
"~ is paid by Mr N. Mr. M has taken a loan for

constructlon of the house and 1nterest for the fmancral |

year 2022-23 is Rs: _2,50_,000w =

Mr. M had recelved a. Plot as. glft from hlS mother on |
| 1St J anuary, 2016 whlch was purchased by her on 3 1st
1 December 2000 for Rs. 2,20, 000, M sold th1s Land on

lst November 2022 for Rs 11 00 000 Mr. M
“‘;‘purchased REC Bonds on 15th December 2022 for

;Rs.3,00,000.' 1
His"income"fro’rrfseving's bank interest is Rs. 1,50, 000
calculate his total income for the assessment year

2023 24 assummg he opts for regular tax reglme

~ p.T.O.
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Cost inflation index PY 2001-02 = 100, PY 2015-14

= 254, PY 2022-23 = 331 P ] (11)
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. 4. "(a) What are’ Long-term Capltal Assets. Explam briefly
-~ the exemptmn prov1ded by sectlon 54 of Income

'_Tax; Act 1n‘res'pect to -Long Term Capital Gams.
| 6)

(b) Mention any two cases in ‘wh'i'ch income of other
persons are clubbed with the income of the

Asseséée,i (5

P.T.O.
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OR

(a) (i) Mr. X is running a business of wholesa,

‘medicines, during financial year 2022-23,
purchased medicines from his brother’s shop
for Rs. 2,10,000, however, same goods could

have been purchased frém market for

‘Rs. 1,90,000.

1 Bér.iefly;expl'ain the admissibiliiy of this

purchase expense. . . .. 2 (3)

’(.ii) Mr. Y is having a‘business of 'property deéier.
He. gener,anlly pays saiéry to his staff by
I,a'ccoun‘t paying cheques. In the month of June
2022, he received a commission of Rs. 1 00 000

ai . in cash and he paid followmg salaries to his

staff Mrs. Rita Rs. 11,000, Mr. Navin

Rs 15,000, Mr Vinod Rs 10,000 all in cash.

Explain brncﬂy the admxss:blllty of theses

salaries, !/ ¥ ookl v i 2 3)
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(b) Briefly explain the case of Shiela Kaushish vs

~ CIT of Income Tfix. L ra i (5)
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5. '(@)A,and B are two partners in a firm AB Ltd.
sharing profits & losses e{cjually,‘ The firm satisfies
all conditions .é.)'f séction 184 and 40(b) The Pfofit
& Loss for the year ending March 31, 2023 is as

follows ;
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Rs. Rs.

Expenses 3,75,000 | Gross Receipts | 11,55,000
Depreciation 2,65,235
Remuneration to 3,95,000
Partners
A-197500
B -1,97,500
Interest on capital | 65,000
To partners
Net profit - .| 34,765

[ 11,55,000] | 11,55,000

Other information : -

(i) Out.of expenses of Rs. 3;75,000, Rs. 55,000

is not deductible. = -

(i) Depreciation as per section 32 is

© Rs.2,55,000.

- .(iii) Interest on capital to partners, not

| deductible under section 40(b) is Rs. 15,500.

‘Calculaté taxable income of AB Ltd for

the assessment yetir 2023-24, (8)

P.T.O.
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(b) Mr. X is 0 i)al‘lltcr in XY Ltd, a partnership firm,
He received Rs. 7,00,000 as salary, Rs. 65,000 ag
interest on capital and Rs. 2,35,000 share of profit
from XY Ltd. Bi'ieﬂy eXpl:ain-thc taxability of these
incomes for Mr. X, assuming conditions of section

184 and 40(b) are satisfied. . (3)

" OR
(a) Explam the term ‘Agrlcultural 1ncome how it is

treated for income tax purpose? o (6)

(b) E’xplain’-the deduction of ilit"'e"re'st on ,deposit}s‘ in

“case of _séni'o‘r';citiz._e_nsU/’_S 80‘2T_TB'.-» _ - (5)

l(at) Aaﬂ'{Bwﬁﬁtﬁ{ﬁé@%ﬁﬂnﬁm%ﬁ
waﬂrmﬁra«‘rmm%maﬂ%%lwﬁm
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(@) MR X, U@ Wl W, XY Ltd. ¥ wrier 21 32
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